Economics 11PRIVATE 

Spring 2006
Final Exam
Please answer all five questions.  To receive full credit, you must show all work you do to arrive at an answer.  Question 2 is worth 25 points, and question 5 is worth 15.  All others are worth 20.  All graphs must be completely labeled.
1.
Amtrak is the sole provider of long-distance rail services in the U.S.

a.
Illustrate the equilibrium price, quantity and profits of Amtrak if it is run as a profit-maximizing firm.

b.
Since it is partially funded by the Federal government, Amtrak might be forced to operate at the point of social (allocative) efficiency.  Illustrate the price, quantity and profits at this point.  What is good about operating at the point of social efficiency.

Part II - Amtrak has a fare structure which charges business travelers more than vacationers.  Graphically show why Amtrak has an incentive to do this.

2.
The commercial aircraft industry is dominated by two sellers:  Boeing and Airbus.

a.
Label the equilibrium price, quantity and profits of Boeing assuming profits are being made.


b.
Explain how the price Boeing faces was set.

Part II – Use the graphic below to explain why price competition on similar aircraft doesn’t make sense:






Boeing’s profits
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High Price
$500m/$600m

$300m/$800m

Airbus’ Profits



Low Price
$600m/$400m

$400m/$500m



The top number is for Airbus, the bottom for Boeing

Part III - If the two firms got together and formed a cartel, label the cartel price, quantity and profits of Boeing.  Show the firm has an incentive to cheat.

3.
The soybean market is characterized by many sellers, and a homogeneous product. 
a.
As a result of recent articles on the health benefits of 
eating soy, all producers are currently making economic profits.  Show equilibrium for the market and for an individual producer.  Label the price, quantity and profits.


b.
Show long-run equilibrium for the same market and producer.


Part II - Using your answer in b), locate the points of 
technical and economic efficiency.  

Why are they both achieved in this market?  Why would it be impossible to achieve both of these in a market such as monopoly?

4.
The market for a college education is characterized by many sellers, each offering a 

differentiated product.

a.
Suppose each college was run as a profit-maximizing firm. Illustrate the price, quantity and profits which would prevail (assuming profits are being made).


b.
Illustrate the long-run equilibrium.

Part II - Given the importance of a college education, it could be argued that society should increase the "output" of each college to the point of social (allocative) efficiency.  Label this point on your graph from part b).  What problem arises?
5.
Farm-raised fish has become extremely popular with consumers, but production results in a great deal of pollution.

a.
Suppose Fiona’s Fish Farm is allowed to operate without regulation.  Label the price, quantity and profits of Fiona’s.

b.
Now suppose the cost of pollution is internalized – illustrate Fiona’s new price, quantity and profits.



Explain in detail the reasons why this is better for society.

Part II – Why are street lights considered a public good?  State what a free-rider is.  How would (or can you) prevent free-ridership in this example?
